72013/127/030B

Th=50°C
4 N\ 7 I
Qc-1 Qh-I1
30 90
— 80
2 //" 70 //
AT=0 / AT=0
L —
20 / AT=10 60 / //? AT=10
’;‘ // 1 AT=20 /;\ 50 7 /] AT=20
g 15 / o AT=30 fé’ w0 /////// AT=30
AT=40 / 72 f AT=40
/| — p7 7 /
10 7 AT=50 30 / AT=50
/ / / / P AT=60 20 % d AT=60
5 / / AT=70 / / / AT=70
// / /// | ——— AT=80 10 / ——— AT=80
0 / — AT=90 0 AT=90
0 0.5 1 15 2 2.5 3 3.5 0 0.5 1 15 2 2.5 3 3.5
1(A) 1(A)
COP-1
2
PN IRNEN
P IEERAN
AT=90 1.4 I \ \ \ AT=0
AT=80 12 , \\\\ AT=10
. AT=70 : T AT=20
E AT=60 % 1 // S\\ AT=30
AT=50 0.8 \ AT=40
AT=40 06 / T —— AT=50
AT=30 ' / / Ny AT=60
AT=20 0.4 I’ / /’ \\ AT=70
AT=10 0.2 i / — AT=80
AT=0 0 ’ / / AT=90
0 0.5 1 15 2 2.5 3 3.5 0 0.5 1 1.5 2 2.5 3 3.5
1(A) 1(A)
\ / J
Th: Temperature of heat radiating side V: Input voltage
Qc: Heat absorbed (pumped) Qh: Heat radiated
I: Input current COP:  Coefficient of performance
AT: Temperature difference between heat radiating side and heat absorbing side In vacuum
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